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11,2-

12

1,1-
1,1,2-

12
JIS
cis-1,3-
12
7
12
cis-1,3-
1 vol ppm
7

cis-1,2-
1,2-
trans-1,3-
o- m-
cis-1,2-
1,2-
trans-1,3-
O-
1 vol ppm
1 vol ppm

11,1-

1,1,1-



1SO/1EC 6142

P [
(mol/mol) x(i=1,...,n)

P >9, -m
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A ZX1AM|

)ﬂz i=1
P
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Z niA
o ZX1AM|
i=1
P
n
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X A A i
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n axl 2 p ax 2 p n axl 2
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Ma u(my)
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% u(%;.a)
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u(M;) IUPAC “ Commission on atomic weights and isotopic abundances :

Atomic Weights of the Elements’



1 12 %

1 ppm
1,1- 0.08 | 0.003 0.1 0.09 0.33 0.29 0.27 0.54 1.08 1.1
0.05 | 0.003 0.1 0.07 0.30 0.34 0.11 0.48 0.97 1.0
c-1,2- 0.61 | 0.003 0.1 0.07 0.29 0.20 0.13 0.73 1.46 15
1,1,1- 0.02 | 0.003 0.1 0.07 0.30 0.22 0.22 0.45 0.90 1.0
0.01 | 0.003 0.1 0.11 0.20 0.39 0.95 1.06 2.12 2.2
0.01 | 0.003 0.1 0.14 0.42 0.17 0.11 0.50 1.00 1.0
1,2- 0.03 | 0.003 0.1 0.24 0.62 0.21 0.13 0.72 1.43 15
0.13 | 0.003 0.1 0.06 0.86 0.25 0.28 0.95 1.91 2.0
c-1,3- 0.41 | 0.003 0.1 0.17 0.34 0.50 0.19 0.78 1.56 1.6
0.05 | 0.003 0.1 0.15 0.39 0.25 0.13 0.52 1.03 1.1
t-1,3- 0.09 | 0.003 0.1 0.20 041 0.33 0.55 0.81 1.61 1.7
1,1,2- 0.06 | 0.003 0.1 0.22 0.44 0.40 0.20 0.67 1.35 14

7 %

1 ppm
0.7 0.003 0.1 0.34 2.54 0.50 5.08 5.76 11.51 12
0.02 | 0.003 0.1 0.10 0.14 0.14 0.32 0.40 0.81 1.0
0.10 | 0.003 0.1 0.28 0.19 0.11 0.34 0.51 1.03 1.1
p- 0.18 | 0.003 0.1 0.40 0.10 0.24 0.22 0.56 1.13 1.2
m- 0.20 | 0.003 0.1 0.30 0.39 0.27 0.33 0.69 1.38 14
o- 0.07 | 0.003 0.1 0.44 0.20 0.22 0.22 0.59 1.18 1.2
0.1 0.003 0.1 0.18 0.63 0.22 0.51 0.87 1.74 1.8

%

1 ppm

0.7 0.003 0.1 0.34 0.57 0.47 1.74 2.05 4.09 4.1

18

NMIJ




12

7
7
12
12
VOC 12 1,1-
1,1,1- 1,1,2-
7
7
NMIJ
1

cis-1,3-

cis-1,2-
1,2-
trans-1,3-



mol

VOC

NMIJ

VOC
VoC

1 vol ppm
VoC

1 vol ppm




2

VOC

12 7
1 vol ppm
7
200 vol ppm 5 vol ppm
5 vol ppm
VOC
100 vol ppm
* 1 200 vol ppm
5 vol ppm
VOC

1 vol ppm

VOC

12



VvOC

4 mol/mol %

99.984+0.013 (k=4.30)

o- 99.933+0.002 (k=1.96)
m- 99.80+0.02 (k=2.57)
p- 99.82+0.03 (k=2.04)

99.90+0.05 (k=4.30)

99.99+0.03 (k=1.96)

1,2- 99.97+0.02 (k=2.57)
1,1- 99.92+0.04 (k=2.16)
cis-1,2- 99.39+0.07 (k=2.18)
cis-1,3- 99.59+0.05 (k=2.05)
trans-1,3- 98.44+0.21 (k=2.31)

99.95+0.04 (k=2.23)

99.87+0.03 (k=1.96)

99.95+0.03 (k=1.96)

1,1,1- 99.98+0.02 (k=1.96)

1,1,2- 99.94+0.04 (k=2.23)

99.992:+0.003 (k=2.57)

99.3+1.2 (k=2)

99.9+0.2 (k=2)




